命题人   江苏省溧阳中学   王青 

A
With so much change in schools, heads welcome the chance to refresh their skills. And Chris Mitten, headteacher of the 230-pupil Roche Community Primary School, in St Austell, Cornwall, found that a new leadership course not only introduced him to new ideas, it also helped him to delegate more effectively.

Chris has been a head for eight years. His leadership and management was described as very good in Roche's most recent Ofsted report, but he believed his school could do more to improve. Like many heads, he felt isolated from colleagues in other schools and wanted to share ideas with them. He also wanted to empower staff to take more ownership of school improvement.

He signed up for two programmes organised by the National College for School Leadership - its leadership programme for serving heads and its programme for consultant leaders, who will work to help other schools improve. The college hopes to recruit 400 consultant leaders in 2003.

Roche has a strong record of staff professional development, and has been praised for its training programmes for teaching assistants. Since Chris completed his courses, other staff have been encouraged to improve their training. Staff are now more involved in collective decision-making and in taking delegated responsibilities. There is greater openness to new ideas. The whole school has been refreshed as a result of their headteacher refreshing his leadership skills.

And Chris's work with primaries as a consultant leader means he helps to solve the literacy and numeracy problems they face.
1. Chris took up a new leadership course because_____________.

  A. he liked new ideas     

B. he could encourage other staff to improving their training

  C. he wanted to solve literacy and numeracy problems.

  D. his whole school could be improved.

2. He believed his school could do more to improve. He meant to _________.

  A. be headteacher for a longer time.

  B. help other schools to improve.

  C. share ideas with his staff.

  D. take more ownership of school improvement.

3. Which of the following best explains the meaning of the word “recruit” in the text?

 A. employ   B. raise    C. enlist    D. isolate

4. We can infer from the passage that____________.

  A. Reche is a successful college.

  B. Reche pays much attention to staff training.

  C. Chris is the first consultant leader.

  D. Chris has fallen behind other heads.

B     

Learndirect is at the forefront of the e-learning revolution. Learndirect has trained some 895,000 people since October 2000, offering courses where individuals want them. There now over 2,040 learndirect centres in high streets, leisure and community centres, colleges, sports clubs and libraries.

In Humberside, Hull College is the hub for 31 centres based in the county's main population centres. One is located in the Kingston Communications Stadium, a major local sports and concert venue. Another can be found in the Goodwin community centre, in a deprived area. Some 3,000 Humberside learners benefited from courses in the first half of 2003

Learndirect in Wigan has been particularly effective in reaching people who have not been on college courses recently. Their partnership with Wigan and Leigh College has provided 16 local learndirect centres, several of which are located in local secondary schools. Others are provided in local libraries, at a YMCA centre and at community centres. Special computer facilities targeted at pensioners are being developed in Wigan and Leigh town centres. A total of 5,600 people joined courses in 2002.
     By reaching beyond traditional provisions, learndirect is helping thousands of adults with no or few qualifications to get to grips with information and communications technology, business and management, and the 'skills for life' of numeracy and literacy.
1. It can be learned from the text that learndirect is ________.
   A. a training organization    B. a community centre  

C. a sports club            D. a revolution organization

2. Which is true according to the text?

   A. The learndirect helps individuals with traditional provisions.

   B. A total of 5,600 people benefited from courses in 2002 in Humberside.
   C. Learndirect is particularly effective in deprived areas. 

   D. Learndirect trained some 895,000 people in October 2000.

3. Which of the following best explains the meaning of the word “hub” in the text?

   A. centre    B. club   C. nuclear     D. middle

4. What would be the best title for the text?
   A. Forefront of E-learning Revolution

   B. Convenience Learning

   C. Learndirect Centres

   D. Skills for Life

Key: (A) DBCB     (B) ACAB
命题人：沈亚黎 命题单位：常州市安家中学
> A
> When the famous dancer Fred Astaire was interviewed for a job by a 
> Hollywood producer, the movie “expert” turned him down, saying, “Can’t 
> sing. Can’t act. Dances a little.” Here’s another stupid mistake. When 
> the great scientist Albert Einstein was at school, his teachers considered 
> him rather dull. And a final story, the famous Polish pianist Paderewski 
> was told by a teacher that he’d never be a success as a performer because 
> the middle finger on each hand was too short.
> What lessons can be drawn from these three experiences？First, true 
> genius（天才）cannot be suppressed（压抑）. For some reason or other it 
> works its way out. Second, early judgements of a person’s abilities may be 
> unfair or just wrong. Third, when there is a real determination to succeed, 
> obstacles fall by the wayside.
> The famous motto “ad astra per aspera” can be translated as “To the 
> stars through hardships.” Astaire, Einstein and Paderewski proved their 
> critics wrong.
> 1 Which of the following best expresses the main idea of the 
> passage ?
> A．People gain success because they are criticized at first
> B．True ability will always make itself known.
> C．Some people never get discouraged
> D．Never be discouraged even though facing unfair or wrong judgements
> 2 When Paderewski’s teachers told him he’d never be a success, the tone 
> was being________.
> A．humorous　　　　　　　　
> B．cheerful, though concerned
> C．somewhat hesitant　　　　　　　　
> D．seriously mistaken
> 3 The writer of the passage thinks that the reader _______.
> A．knows that the three men were successes
> B．someday dreams to become like one of the men
> C．sympathizes with（同情）the poor teachers of the three men
> D．knows that Fred Astaire was an actor famous for performing Shakespeare’
> s plays
> 4 Which of the following can be replaced by the word “obstacle”?
> A something standing in the way
> B something unusually good in nature
> C something that can help to achieve success though it sounds strangely 
> unpleasant
> D something that can prove true in the future
> B
> Looking back on my childhood, I am convinced that naturalists are born 
> and not made. Although we were all brought up in the same way, my brothers 
> and sisters soon abandoned their pressed flowers and insects. Unlike them, 
> I had no ear for music and languages. I was not an early reader and I could 
> not do mental arithmetic.
> 　　Before World War I we spent our summer holidays in Hungary. I have only 
> the dim memory of the house we lived in, of my room and my toys. Nor do I 
> recall clearly the large family of grandparents, aunts, uncles and cousins 
> who gathered next door. But I do have a crystal-clear memory of the dogs, 
> the farm animals, the local birds, and above all, the insects.
> I am a naturalist, not a scientist. I have a strong love of the natural 
> world and my enthusiasm had led me into varied investigations. I love 
> discussing my favorite topics and enjoy burning the midnight oil while 
> reading about other people's observations and discoveries. Then something 
> happens that brings these observations together in my conscious mind. 
> Suddenly you fancy you see the answer to the riddle, because it all seems 
> to fit together. This has resulted in my publishing 300 papers and books, 
> which some might honor with the title of scientific research.
> But curiosity, a keen eye, a good memory and enjoyment of the animal 
> and plant world do not make a scientist: one of the outstanding and 
> essential qualities required is self-discipline, a quality I lack. A 
> scientist requires not only self-discipline but hard training, 
> determination and a goal. A scientist, up to a point, can be made. A 
> naturalist is born. If you can combine the two, you get the best of both 
> worlds. 
> 5 The first paragraph tells us the author ______.
> A was interested in flowers and insects in his childhood
> B lost his hearing when he was a child
> C didn't like his brothers and sisters
> D was born to a naturalist's family
> 6 The author can't remember his relatives clearly because______ .
> A he didn't live very long with them
> B the family was extremely large
> C he was too young when he lived with them
> D he was fully occupied with observing nature
> 7 It can be inferred from the passage that the author was______ .
> A a scientist as well as a naturalist.
> B not a naturalist but a scientist
> C no more than a born naturalist
> D first of all a scientist
> 8 The author says that he is a naturalist rather than a scientist probably 
> because he thinks he______ .
> A has a great deal of trouble doing mental arithmetic
> B lacks some of the qualities required of a scientist
> C just reads about other people's observations and discoveries
> D comes up with solutions in a most natural way
> 9 According to the author, a born naturalist should first of all be______ 
> .
> A full of ambition 　　　　　B knowledgeable
> C full of enthusiasm 　　　　D self-disciplined
> 答案
> 1-5BDAAA 6-9DCBC

溧阳市戴埠高级中学外语组 
蒋元祥 郑全庚 周建和 葛连生 周云霞 
高考英语阅读训练（A） 
You are watching a film in which two men are having a fight. They hit one another hard. At the start they only fight with their fists. But soon they begin hitting one another over the heads with chairs. And so it goes on until one of the men crashes(撞击) through a window and falls thirty feet to the ground below. He is dead！Of course he isn't really dead. With any luck he isn't even hurt. Why? Because the men who fall out of high windows or jump from fast moving trains, who crash cars of even catch fire, are professionals. They do this for a living. These men are called stuntmen. That is to say, they perform tricks.There are two sides to their work. They actually do most of the things you see on the screen. For example, they fall from a high building. However, they do not fall on to hard ground but on to empty cardboard boxes covered with a mattress (床垫). Again, when they hit one another with chairs, the chairs are made of soft wood and when they crash through windows, the glass is made of sugar!But although their work depends on trick of this sort, it also requires a high degree of skill and training. Often a stuntman' s success depends on careful timing. For example, when he is "blown up" in a battle scene, he has to jump out of the way of the explosion just at the right moment. 
Naturally stuntmen are well paid for their work, but they lead dangerous lives. They often get seriously injured, and sometimes killed. A Norwegian stuntman, for example, skied over the edge of a cliff(悬崖) a thousand feet high. His parachute(降落伞) failed to open, and he was killed. In spite of all the risks, this is no longer a profession for men only. Men no longer dress up as women when actresses have to perform some dangerous action. For nowadays there are stuntgirls tool 
1. Stuntmen are those who ______. 
A. often dress up as actors 
B. prefer to lead dangerous lives 
C. often perform seemingly dangerous actions 
D. often fight each other for their lives 
2. Stuntmen earn their living by ______. 
A. playing their dirty tricks 
B. selling their special skills 
C.jumping out of high windows 
D. jumping from fast moving trains 
3. When a stuntman falls from a high building, ______. 
A.he needs little protection 
B. he will be covered with a mattress 
C.his life is endangered 
D. his safety is generally all right 
4. Which of the following is the main factor (因素) of a successful performance? 
A. Strength. B. Exactness. C. Speed. D. Carefulness. 
5. What can be inferred from the author' s example of the Norwegian stuntman? 
A.Sometimes an accident can occur to a stuntman. 
B.The percentage of serious accidents is high. 
C.Parachutes must be of good quality. 
D. The cliff is too high. 
(KEY: 1- 5 CBDBA) 

高考英语阅读训练（B） 
Reading to oneself is a modern activity which was almost unknown to the learned in the early days of the history, while during the fifteenth century the term "reading" undoubtedly meant reading aloud. Only during the nineteenth century did silent reading become popular. 
One should be careful, however, of supposing that silent reading came about simply because reading aloud is distraction (分散注意力) to others. Examination of reasons connected with the historical development of silent reading shows that it became the usual mode of reading for most adult reading tasks mainly because the tasks themselves changed in character. 
The last century saw a gradual increase in literacy (读写能力) and thus in the number of readers. As readers increased, so the number of listeners dropped, and thus there was some reduction in the need to read aloud. As reading for the benefit of listeners grew less common, so came the popularity of reading as a private activity in such public places as libraries, trains and offices, where reading aloud would disturb other readers in a way. 
Towards the end of the century there was still heated argument over whether books should be used for information or treated respectfully, and over whether the reading of material such as newspapers was in some way mentally weakening. Indeed this argument remains with us still in education. However, whatever its advantages, the old shared literacy culture had gone and was replaced by the printed mass media (媒介) on the one hand and by books and magazines for a specialized readership on the other. 
By the end of the century students were being advised to have some new ideas of books and to use skills in reading them which were not proper, if not impossible, for the oral reader. The social, cultural, and technological developments in the century had greatly changed what the term "reading" referred to. 
1. Why was reading aloud common before the nineteenth century? 
A. Because silent reading had not been discovered. 
B. Because there were few places for private reading. 
C. Because few people could read for themselves. 
D. Because people depended on reading for enjoyment. 
2. The development of silent reading during the nineteenth century showed . 
A. a change in the position of literate people 
B. a change in the nature of reading 
C. an increase in the number of books 
D. an increase in the average age of readers 
3. Educationalists are still arguing about _________. 
A. the importance of silent reading 
B. the amount of information provided by books and newspapers 
C. the effects of reading on health 
D. the value of different types of reading material 
4. What is the writer of this passage attempting to do? 
A. To explain how present day reading habits developed. 
B. To change people's way to read. 
C. To show how reading methods have improved. 
D. To encourage the growth of reading. 
(KEY: 1-4 CBDA) 
高考英语阅读训练（C） 
Today is the date of that afternoon in April a year ago when I first saw the strange and attractive doll（玩具娃娃）in the window of Abe Sheftel's toy shop on Third Avenue near Fifteenth Street, just around the corner from my office, where the plate on the door reads. Dr Samuel Amory. I remember just how it was that day: the first sign of spring floated across the East River, mixing with the soft - coal smoke from the factories and the street smells of the poor neighbourhood. As I turned the corner on my way to work and came to Sheftel's, I was made once more known of the poor collection of toys in the dusty window, and I remembered the coming birthday of a small niece of mine in Cleveland, to whom I was in the habit of sending small gifts. Therefore, I stopped and examined the window to see if there might be anything suitable, and looked at the collection of unattractive objects--a red toy fire engine, some lead soldiers, cheap baseballs, bottles of ink, pens, yellowed envelopes, and advertisements for soft - drinks. And thus it was that my eyes finally came to rest upon the doll stored away in one corner, a doll with the strangest, most charming expression on her face. I could not wholly make her out, due to the shadows and the film of dust through which I was looking, but I was sure that a deep impression had been made upon me as though I had run into a person, as one does sometimes with a stranger, with whose personality one is deeply impressed. 
1. What made an impression on the author? 
A. The doll's unusual face. 
B. The collection of toys. 
C. A stranger he met at the store. 
D. The beauty and size of the doll. 
2. Why does the author mention his niece? 
A. She likes dolls. 
B. The doll looks like her. 
C. She lives near Sheftel's. 
D. He was looking for a gift for her. 
3. Why did the writer go past Sheftel's? 
A. He was on his way to school. 
B. He was looking for a present for his niece. 
C. He wanted to buy some envelopes. 
D. None of the above is right. 
4. The story takes place in the ______. 
A. early summer B. early spring 
C. midsummer D. late spring 
(KEY: 1-4 ADDB) 

高考英语阅读训练（D） 
Technology is the application (应用)of knowledge to production. Thanks to modern technology, we have been able to increase greatly the efficiency of our work force. New machines and new methods have helped cut down time and expense while increasing overall output. This has meant more production and a higher standard of living. For most of us in America, modern technology is thought of as the reason why we can have cars and television sets. However, technology has also increased the amount of food available (有用的)to us, by means of modern farming machinery and animalbreeding techniques, and has extended our life span via()medical technology. 
Will mankind continue to live longer and have a higher quality of life? In large measure the answer depends on technology and our ability to use it widely. If we keep making progress as we have over the past fifty years, the answer is definitely yes. The advancement of technology depends upon research and development, and the latest statistics (统计) show that the united States is continuing to pump billions of dollars annually(每年) into such efforts. So while we are running out of some scarce resources (少的资源) we may well find technological substitutes (代用品) for many of them through our research programs. 
Therefore, in the final analysis the three major factors of production (land, labor and capital) are all influenced by technology. When we need new skills on techniques in medicine, people will start developing new technology to meet those needs. As equipment proves to be slow or inefficient, new machines will be invented. Technology responds to our needs in helping us maintain our standard of living. 
1. What is the best title for the passage? 
A. The definition of technology 
B. Modern technology 
C. The application of technology 
D. The development of technology 
2. From the passage, we can infer that this article is probably _________. 
A. a part of the introduction to American business 
B. followed by the passage talking about factors of production 
C. taken from a learned journal 
D. Both A and B 
3. Which is the main idea of the passage? 
A. Modern technology is the key to the improvement of standard of living. 
B. The three major factors of production-land, labor and capital are all influenced by technology. 
C. Technology is the response to our needs. 
D. The United States is making great efforts to advance its technology. 
4. According to the passage, people can live a long life with the help of _________. 
A. higer quality of life 
B. medical technology 
C. modem farming machinery 
D. technological substitute 
(KEY: 1- 4BDAB)
命题人：孙玉珍

                                                命题单位：常州市武进区礼嘉中学

阅 读 理 解

（A）

Sometimes doing something for yourself-even shopping-can give others a lift. That’s the case at charity（慈善）shops and non – profit（非赢利）stores such as Ten Thousand Villages, which helps provide skilled workmen with money in developing countries.

Their handicrafts（工艺品）are sold throughout North America in 180 stores, 95 of them operated by Ten Thousand Villages.

“People come into the store because we have a lot of interesting things, but then they’re drawn to us by the mission （使命）” says organization spokeswoman Juanita Fox. 

“it just feels good to be making a difference when you’re buying something.”
In the Alexandria, Virginia shop, generous display windows draw you in. They’re filled with practical, attractive home furnishings in blue and white, all  international in mood.

Once inside though, it’s clear that this isn’t just another import store. ON the wall behind the cash register（收银机）is the following note:

“Ten thousand Villages provides necessary , fair income to Third World people by marketing their handicrafts and telling their stories in North America. Your buying makes a difference.”
The store was opened in 1994 as part of a network of shops across the US run by the Mennonite church and based in Akron, Pennsylvania.

Currently, 60,000 skilled workmen from 32 countries provide goods to the stores, with all proceeds（营利）reinvested in the organization.

Management of the Alexandria shop is overseen by all –volunteer（志愿者） board of directors. More than 40 additional volunteers help doing everything from working the register to unpacking stock.

Maria Yannopoulos got involved after visiting a store and getting to know another volunteer. “Since we’re a nonprofit, we’re really looking for value because the more we sell, the more jobs we can create, Giving someone a job rather than charity（施舍）helps in so many ways.”
1．The underlined words “give others a lift” in the first paragraph mean      .

A．offer others a ride in a car     B．take others up and down to another floor

C．make others think of flights    D．make others more pleased

2．A large number of people visit Ten Thousand Villages because         .

A．they are fond of traveling around   

B．they can find something spiritual there

C．they can enjoy the wonderful foods

D．they want to learn how to farm in the fields

3．What can we learn from the note mentioned in this passage?

A．Goods sold at Ten Thousand Villages are expensive.

B．Stories about Ten thousand Villages are interesting.

C．What purpose it is to operate the shop.

D．Goods from the Third World are the best.

4．From the last paragraph we can learn that        .

A．American volunteers like to run shops

B．American shops are mostly run by volunteers

C．Volunteers often offer goods to their friends as presents

D．Volunteers take their turns to work in the shop

答案：1、D     2、B      3、C      4、D

  （B）

The fridge is considered a necessity. It has been so since the 1960s when packaged food first appeared with the label: “store in the refrigerator.”
In my fridgeless Fifties childhood , I was fed well and healthily. The milkman came daily, the grocer, the butcher, the baker, and the ice –cream man delivered two or three times a week. The Sunday meat would last until Wednesday and surplus（剩余）bread and milk became all kinds of cakes. Nothing was wasted, and we were never troubled by rotten food, Thirty years on, food deliveries have ceased, fresh vegetables are almost unobtainable in the country.

The invention of the fridge contributed comparatively little to the art of food preservation（保存）. A vast way of well –tried techniques already existed- naturally cooling , drying, smoking, salting, sugaring , bottling……

What refrigeration did promote（促进）was marketing- marketing hardware and electricity, marketing soft drinks, marketing dead bodies of animals around the globe in search of a good price.

Consequently, most of the world’s fridges are to be found, not in the tropics where they might prove useful, but in the wealthy countries with mild temperatures where they are climatically almost unnecessary. Every winter, millions of fridges hum（嗡嗡响）away continuously, at a vast expense, busily maintaining an artificially-cooled（人工冷却的）space inside an artificially-heated house-while outside, nature provides the desired temperature free of charge.

The fridge’s effect upon the environment has been evident, while its contribution to human happiness has been insignificant. If you don’t believe me, try it yourself, buy a food cabinet（橱柜）and turn off your fridge next winter, You may miss the hamburgers, but at least you’ll get rid of that terrible hum.

1．What does he mean when the writer says “in my fridgeless Fifties childhood, I was fed well healthily”?

A．He was well-fed and healthy even without a fridge in his fifties.

B．He was not in the habit of using fridges even in the fifties.

C．There was no fridge in his home in the 1950s.

D．The fridge was in its early stage of development in the 1950s.

2．Why does the writer say that nothing was wasted before the invention of fridges?

A．People would not buy more food than was necessary.

B．Food was delivered to people two or three times a week.

C．Food was sold fresh and did not get rotten easily.

D．People had effective ways to preserve their food.

3．Who benefited the least from fridges according to the text?

A．Inventors.    B．Makers.     C．Users.        D．Sellers.

4．Which of  the following phrases in the fifth paragraph indicates the fridge’s negative effect on the environment?

A．“hum away continuously.”      B．“artificially-cooled space.”
C．“climatically almost unnecessary.”  D．“with mild temperatures.”
答案：1、C      2、D        3、C        4、A

命题人：刘东华      命题单位：武进区洛阳中学 

（A）

Americans often say that there are only two things a person can be sure of in life: death and taxes. Many people feel that the United States has the  worst taxes in the world.

Taxes are the money that people pay to support their government. There are generally three levels of government in the United States: federal, state and city, therefore, there are three types of taxes. 

 Salaried people who earn more than four to five thousand per year must pay a certain part of their salaries to the federal government. The percentage varies for different people. It depends on the salaries. The federal government has a two-level income tax. That is, 15 or 28 percent. $17,850 is the cut off. The tax rate is 15 percent below $17,850 and 28 percent above.

 The second tax is for the state government: New York, California, or any of the other forty-eight states. Some states have an income tax similar to that of the federal government. Of course, the percentage for the state tax is lower. Other states have a sales tax, which is a percentage charged on any item which people buy in the state. Some states use income tax and sales tax to raise their revenues（税收）.

The third tax is for the city. This tax comes in two forms: Property tax (residents who own a home have to pay taxes on it) and excise tax, which is collected on vehicles（车辆） in a city. The cities use this money for education, police, public works, etc.

 Since Americans pay such high taxes, they often feel that they are working one day each week just to pay their taxes. People always complain about taxes. They often say that the government misuses their tax dollars. They all believe that taxes are too high in this country.

1. In the United States, taxes are collected to provide revenues for________.

A. the federal government       B. the state government

C. the city government          D. the three levels of government

2. How much money does an American earning $40,000 per year pay to the federal government as income tax according to the passage?

A. 28% of this income.         B. 15% of this income    

C. $17,850.                   D. $5,000.

3. What happens to buyers when a sales tax is collected?

A. They have to pay more than what the item costs.

B. They can pay less than what the item costs

C. They have to pay exactly what the item costs.

D. They will all give up buying the item.

4. What tax does an American have to pay to the city if he owns a car?

A. Property tax.    B. Excise tax.   C. Income tax.   D. sales tax.

5. After reading the passage, we might feel that Americans seem to be_________.

A. satisfied with their taxes        B. proud of their taxes

C. unhappy about their taxes       D. very angry at their taxes

(B)

Dear Subscriber（订户），
Wow! Get $20 in FREE educational gifts from BRIGHTER VISION Learning Adventures, a leading provider of children’s educational materials. NO OBLIGATION（义务）TO BUY! Try this introductory learning kit （材料）at no cost! You’ll discover how perfect it is for your child, and you’ll be impressed with the way it encourages fun and early skills development. If you’re not 100% satisfied, there is no obligation to continue with the program.

Order Now! You’ll get all this FREE:

· Activity book with lots of fun educational activities

· Hardcover storybook

· Hands-on project 

· Parent’s newsletter

· Fun stickers（滞销货）

Each monthly learning kit contains all of the above materials...and more!

Put your child on the road to school readiness with this exceptional early learning program! BRIGHTER VISION Learning Adventures is created and designed by early childhood educators who know that kids learn best when they’re having fun.

BRIGHTER VISION Learning Adventures will start your child with learning materials appropriate（适于）to the age of your child. Then each month another fun-filled shipment will arrive designed to boost（推进）your child’s skills and self-confidence, and to carry your child forwards toward success in school. Discover the adventure that lies in store; send for your free introductory learning kit today!

Just click here and you’re on your way to a bright, fun-filled learning experience for you and your child. You’ll both be glad you did!

                                               Sincerely,

                                               Mary Hayes

                                             Brighter Vision

6. The passage above is intended for________.

A. the children who are ready to school

B. the parents whose children will go to school

C. early childhood educators

D. all readers who might read it

7. According to the passage, the children’s educational program has the following advantages EXCEPT that__________.

   A. it’s full of fun      B. it can develop your children’s early skills

   C. it’s free of charge     D. it is created and designed by early child educators

8. This passage is likely on ___________.

   A. a newspaper         B. a magazine        C. notice         D. internet

Key: 1 D  2 A  3 A  4 B  5 C      6 B  7 C  8 D

命题人  马旭映        命题单位  溧阳市埭头中学

                   A

Old Americans are separating into two classes. Retirement can be either heaven or hell. “ I do believe on the whole the retirees of tomorrow will be wealthier and healthier than the same group of 30 years ago,” says Robert Friedland, director of the National Academy on Ageing “But that’s only part of the picture .” There is also a large group whose household income hasn’t been growing very much. . For them the future is unhappy.

“Nature is not always kind ,” says Dr Robert Butler, an expert in medical care of old people, who was founding director of the National Institute on Ageing . The relationship between socio-economic position and life expectancy has been known for a long time . Race is also connected . And education is a powerful tool in lengthening life.

“The reality is that poor people get sick easily as they age because they live in dirty neighbourhoods and have dirty jobs , they are left unprotected from environmental pollution , and the pressure of being poor wears down people’s health,” according to Karen Davis, president of the Commonwealth Fund , which studies health issues.

“Cigarette smoking has a great effect because it is more common in lower socio-economic groups ,”says Elizabeth Whelan, president of the American Council on Science and Health. “If you live in a state of hopelessness and don’t think about the future , you are more likely to take up life threatening habits.” 

“Race and income have large effect on death,” a team of researchers reported in the New England Journal of Medicine in 1996, after researching on 24 million whites and 2.1 million blacks.

With the exception of black women, the highest income group had the lowest death rates and the lowest income group had the highest death rates regardless of race. For black women there was no consistent pattern across income groups.

1 The sentence “Retirement can be either heaven or hell” means “_____________”

A If an American is out of work , he or she will feel happy.

B If an American retires , he or she will live a miserable life .

C Old people in America have to choose a life style

D Some old people lead a hard life ,others may lead a happy life

2 According to Dr Robert Butler’s opinion ,________ plays the most important role in people’s life expectancy.

A nature    B race     C  education     D colour

3 The reason why poor people are more likely to get ill as they grow old is that__________

A they live in the countryside        B they work with their hands

C their families are too large         D they suffer a lot from poverty

4 What Elizabeth Whelan says means that_______________

A smoking makes people poor and hopeless  

B smoking is very popular among poor people

C poor people should give up smoking

D rich people in American never smoke

5 In the last sentence “consistent” means____________

A clear       B regular    C useful   D helpful

                     B       

E-mail system at thousands of companies and government offices around the world were attacked by a virus病毒 called “Mellisa” that disguised itself as an important message from a friend. 

Even though there was a weekend warning , more than 50,000 companies at about 100 places around the world had been attacked by the virus, computer experts said on Monday.

The virus began to show up last Friday and spread rapidly the next work day by making computers send off dozens of e-mails containing the virus . Although the virus had no long—lasting damage to a computer, its effects were far-reaching.

Michael Vatis ,a senior US official said military 军事and government computers were damaged , along with thousands of other institutions’ systems.

The body of e-mail message says “Here is what you ask for” Once the user opens it , the virus digs into the user’s address book and sends out message to the first 50 addresses. The reason why the virus spread so rapidly is that you are getting it from people you know and trust. So anyone who gets an unexpected e-mail with the “Important Message” subject line is advised not to open it and to delete it immediately.

1 From the passage we know that the virus attacked thousands of computers on________

A Monday       B Saturday      C Friday     D the first day of a month

2 The virus spread rapidly because____________

A it makes computers work without stop

B it carries words “Important Message”

C it sends out message to dozens of computers at one time

D it attacked government and military offices

3. The underlined word “disguise” most probably means__________

A go up      B cover up     C paint     D notice

4 Which of the following is true according to the passage?

 A The computer attacked by the virus won’t work properly

 B Thousands of computers were attacked by the virus one by one.

 C The “Important Message” carries an important message from a friend

 D Any computer with an e-mail system will be attacked by the virus.

5 Which of the following is the best title for the passage?

 A Stop Using Your Computer             B “Important Message” Is A Virus

 C Message From Friends Contain Virus     D Virus Strike Hard and Fast
答案  A篇   1---5  DCDBB

  B篇   1---5  CCBAB

命题人  姚芹    命题单位  常州市一中

                                 （1）

Unions are organizations of workers that bargains with employers for economic and job benefits. They exist to create political and economical power against private management and the government to achieve their goals. These goals are mainly higher wages, better working conditions, and job security. The arrangements made to achieve these goals are usually complex in their social and psychological detail.

Union movements occurred in the later years of the 1700s in the U.S. Carpenters, (木匠)printers, and shoemakers formed organization as early as 1791 in Philadelphia, Boston and New York. These arose largely over economic conflicts（冲突） between workers and employers when rapid changes in a young developing country began to break down the familiar methods of production and the close ties between workers and employers.

Unions were seen as a thread to free enterprise and private property, and therefore to political and economical stability. They were also considered radical（激进的） and companies resisted them vigorously. Violence was frequent on both sides. The government at times sent state police to suppress（镇压） the more fierce conflicts. Union workers themselves often punish other workers who did not support their policies.

Unions in the U.S. have always maintained a practical direction. They have not adopted radical ideologies（思想） or unrealistic goals. A major force in union organizing in the early part of this century, Samuel Gompers, took a practical approach. He was for “bread and butter unionism” or pure and simple unionism. He was interested in immediate, practical gains------higher wages and shorter hours. He sided with no political party, only with politicians who could help.
1． What is the main idea of this passage? __________

A. Labour unions are the political parties supported by the workers.

B. Labour unions are the same in their goals in the world.

C. Labour unions are the organizations to achieve their own goals.

D. Labour unions were organized as early as 1791 in the U.S.

2. The rapid development of labour unions is because __________.

A. the economic conflicts between workers and employers are getting more and more severe

B. the familiar methods of production and close ties between workers and employers are broken

C. the working conditions, job security and so on are getting worse and worse in the U.S.

D. the practical benefits of labour union attracted more and more attention of workers

3. From the passage we know the main purpose of a strike is ________.

A. to gain community sympathy for the workers

B. to force the government to be involved in

C. to impose（加强）financial difficulties on a company

D. to show the political and economic power of union

      4． In the author’s opinion, the goals of the labour unions are generally considered as ________.

          A. realistic       B. practical       C. private       D. major

5.  According to the passage, which of the following sentences is NOT TRUE?

A. Unions are thought of as a threat to political and economical stability.

B. Some workers were punished by some other workers because of their different opinions.

C. Labour unions are the results of the fierce conflicts between workers and employers

D. The rapid development of labour unions is due to the full support of the government.

(2)

The law is a great mass of rules, showing when and how far a man is liable to be punished, or to be made to hand over money or property to his neighbors, and so forth. These rules are contained in books. A lawyer learns in the main by reading books.

He begins by doing little else than read, and after he has prepared himself by, say, three years’ study to practise, still, all his life long and almost every day, he will be looking into books to read a little more than he already knows about some new questions which he has to answer.
The power to use books , then, is a talent（天赋） which the would-be lawyer ought to possess. He ought to have enough flexibility and fineness of mental fibre to make it easy for him to collect ideas from printed words. He ought to have some readiness in finding what a book contains, and something of an instinct（本能）for where to look for what he wants.

But although this is the power of which he will first feel the need, it is not the most important. A lawyer does not study law to recite it, he studies it to use it and act upon the rules which he has learned in real life. His business is to try cases in court and to advise men what to do in order to keep out or get out of trouble. He studies his books in order to advise and to try his cases in the right way.

6. The passage tells us the first thing a law student has to do is to ________.

A. practise law                  
B. read books

C. hand over money              
D. answer questions

7. After three years of reading ________.

A. he can stop reading           
B. he can study law

C. he still has to continue reading  
D. he is able to give intelligent answers

8. The principal business of a lawyer is __________.

A. to advise people who have legal trouble

B. to discuss the material he has read

C. to learn about real life

D. to study the law only

9. From the passage we get the idea that a good lawyer should know how to _________.

A. be powerful                   
B. collect ideas

C. be flexible in all things         
D. analyze and interpret what he reads

10. The phrase “in the main” in the first paragraph means ________.

A. at most        B. not in the least     C. partly       D. on the whole

答案：

    1-5  CACCD                  6-10  BCADD

朱月琴   常州市西夏墅中学

A

In the presidential election of 1860, Lincoln won. People from eighteen free states helped make him president of the United States.

But all Americans did not want Lincoln to be their leader. Many white people in southern states believed Lincoln would take away their power in government and their slaves, too.

Slavery was not the only problem troubling Americans from 1800 to 1860. White southerners believed that northern law-makes passed unfair tax laws.

The laws white southerners believed were most unfair put a tax on factory goods shipped from other countries to the United States. Southerners believed that such laws hurt more than any other Americans. They believed this because in the South, there were few factories. People needed to buy factory-made goods that were shipped either from foreign countries or from the North. If southerners bought foreign goods, they had to pay an extra amount caused by the tax. If they bought goods made in northern factories, they helped make the North a richer, more powerful region than the South.

Whatever the reasons were, white southerners were ready to fight. They prepared themselves to fight to keep what they believed they owned and against tax laws that they believed were unfair.

1. Lincoln won in the election mainly with the help of          .

  A. all American people             B. the southerners

  C. the northerners                 D. the people from the 18 states

2. “All Americans did not want Lincoln to be their leader.” means          .

A. not all Americans wanted Lincoln to be their leader

B. only a few Americans wanted Lincoln to be their leader

C. no Americans opposed Lincoln to be their leader

D. many Americans imposed Lincoln to be their leader

3. The problem troubling Americans from 1800 to 1860 was          .

  A. slavery or tax laws             B. tax laws

  C. presidential election            D. slavery and tax laws

4. The laws which white southerners opposed put a tax on          .

A. goods made in the factories in the South

B. goods made in the factories in the North

C. goods made in other countries.

D. goods made in the United States and other countries.

5. The white southerners believed that the tax laws would          .

A. make the United States become stronger

B. do good only to the northerners

C. do good to the southerners

D. help people to buy goods made in southern factories

B

Last summer I went through a training program and became a literacy volunteer（扫盲志愿者）. The training I received, though excellent, did not tell me how it was to work with a real student, however. When I began to discover what other people’s lives were like because they could not read, I realized the importance of reading.

My first student Marie was a 44-year-old single mother of three. In the first lesson, I found out she walked two miles to the nearest supermarket twice a week because she didn’t know which bus to take. When I told her I would get her a bus schedule, she told me it would not help because she could not read it. She said she also had difficulty. Once she got to the supermarket, she couldn’t always remember what she needed. Since she did not know words, she could not write out a shopping list. Also, she could only recognize items by sight, so if the product had a different label（标识）, she would not recognize it as the product she wanted.

As we worked together, learning how to read built Marie’s self-confidence, which encouraged her to continue in her studies. She began to make rapid progress and was even able to take the bus to the supermarket. After this successful trip, she reported how self-confident she felt. At the end of the program, she began helping her youngest son, Tony, a shy first grader, with his reading. She sat with him before she went to sleep and together they would read bedtime stories. When his eyes became wide with excitement as she read, pride was written all over her face, and she began to see how her own hard work in learning to read paid off. As she described this experience, I was proud of myself as well. I found that helping Marie to build her self-confidence was more rewarding than anything I had done ever before.

As a literacy volunteer, I learned a great deal about teaching and helping others. In fact, I may have learned more from the experience than Marie did.

6. What did the author do last summer?

A. She worked in the supermarket.

B. She helped someone to learn to read.

C. She gave single mothers the help they needed.

D. She went to a training program to help a literacy volunteer.

7. Why didn’t Marie go to the supermarket by bus at first?

A. Because she liked to walk to the supermarket.

B. Because she lived far away from the bus stop.

C. Because she couldn’t afford the bus ticket.

D. Because she couldn’t find the right bus.

8. How did Marie use to find the goods she wanted in the supermarket?

A. She knew where the goods were in the supermarket.

B. She asked others to take her to the right place.

C. She managed to find the goods by their looks.

D. She remembered the names of the goods.

9.  Which of the following statements is true about Marie?

A. Marie could do things she has not been able to do before.

B. Marie was able to read stories with the help of her son.

C. Marie decided to continue her studies in school.

D. Marie paid for her own lessons.

答案：1-5 DADCB               6-9 BDCA

命题人：徐佩文    命题单位：江苏省武进高级中学
  Human wants seem endless. When a starving man gets a meal, he begins to think about an overcoat; when an executive gets a new sports car, visions of country clubs and pleasure boats dance into view.

  The many wants of mankind might be regarded as making up several levels. When there is money enough to satisfy one level of wants, another level appears.

  The first and most basic level of wants involves food. Once this want is satisfied, a second level of wants appears clothing and some sort of shelter. By the end of World War II these wants were satisfied for a great majority of Americans. Then a third level appeared. It included such items as automobiles and new houses.

   By 1957 or 1958 this third level of wants was fairly well satisfied. Then, in the late 1950s a fourth level of wants appeared: the “life -enriching” level. While the other levels involve physical satisfaction—the feeding, comfort, safety, and transportation of human body—this level stresses mental needs for recognition, achievement and happiness. It includes a variety of goods and services, many of which could be called “luxury” items. Among then are vacation trips, the best medical and dental care, and entertainment. Also included here are fancy foods and latest styles in clothing.

  On the fourth level, a greater percentage of consumers’ spending goes to services, while on the first three levels more is spent on goods. Will consumers raise their sights to a fifth level of wants as their income increased, or will they continue to demand luxuries and personal services on the fourth level ?

   A fifth level probably would involve wants that can be achieved best by community action. Consumers may be spending more on taxes to pay for government action against disease, ignorance, crime and prejudice. After filling our stomachs, our clothes closets, our garages, our teeth and our minds, we are now may seek to ensure the health, safety and leisure to enjoy more fully the good things on the first fourth levels.

1. according to the passage, man will begin to think about such needs as housing and clothing only when ___________.

A. he has saved enough money

B. he has grown dissatisfied with his simple shelter

C. he has satisfied his hunger

D. he has learned to build houses

2. It can be inferred from the passage that by the end of World War II most Americans ________.

A. were very rich

B. lived in poverty

C. had the good things on the first three levels

D. didn’t own automobiles

3. Which of the following is NOT related to “physical satisfaction”?

A. A successful career

B. A cozy home

C. A good service

D. A family car

4. The main concern of man on the fourth level __________.

A. The more goods the better

B. The more mental satisfaction the better

C. The more “luxury” items the better

D. The more earnings the better

5. The author is inclined to think that a fifth level __________.

A. would be little better than the fourth level

B. may be a lot more desirable than the first four

C. can be the last and most satisfying level

D. will become attainable provided the government takes actions
 答案：
1—5  C D A B B

Marshall Field’s, a department store in Chicago, has long used the motto: “Give the lady what she wants.” Finding out what the customer wants of one of the problems marketing research tries to solve. Marketing research has been defined as trying to analyze marketing problems scientifically. It studies people as buyers and sellers, examining their habits, attitudes, preferences, dislikes, and purchasing power. It often studies specific（具体的） groups of people, such as teenagers, high-income groups, or senior citizens. Marketing research also investigates（调查） distribution systems, pricing, promotion（促销）, product design, packaging, brand names, and almost every aspect of the seller-buyer relationship.

Marketing research is divided into number of sub-areas. Advertising research attempts to find out the effectiveness of advertising. It also seeks to learn the best media for advertising specific products: television, newspapers, radio, magazines, billboards, and others. Marketing analysis tries to identify and measure markets for specific products and to estimate sales potential. Markets may be differentiated by population groups or by geography. Some types of clothing are more likely to sell in Florida and California than in the northern Midwest. Some cosmetics ()will appeal more to black customers than to white customers. Performance analysis helps a company learn how well it is meeting its goals of sales and profits. Product research covers the whole area of new-product development. Marketing research is an expensive undertaking, and its costs are built into the prices of products.

1. The distribution system aims to __________.

A. sell goods in the markets

B. deliver products to different places

C. analyze（分析） products

D. produce and sell goods

2. As far as advertising is concerned, television __________.

A. is the best medium for direct advertising

B. is the best medium for indirect advertising

C. is a suitable medium only for certain goods

D. is the quickest and cheapest means of advertising

3. Sweaters produced for and sold to young women are examples of market differentiation according to __________.

A. age and education

B. population group

C. quality and size

D. gender and occupation

4. Performance analysis and product analysis differ in that __________.

A. the former aims to find out how a goal is met in a more efficient way

B. the former is to find out if the present performance is directed to the goal

C. the latter aims to find out how the present product is marketed

D. the latter aims to find out whether a product is being sold well

5. According to the last paragraph, the cost of marketing research __________.

A. is supplied by the producer and seller together

B. is met by increasing the price of the product

C. is too expensive to be met only by the producer
      答案：
1—5  A C B B B

命题人 潘建生  常州市横山桥中学
(A)



One hundred and thirteen million Americans have at least one bank-issued credit(信用) card. They give their owners automatic credit in stores, restaurants, and hotels, at home, across the country, and even abroad, and they make many banking services available as well. More and more of these credit cards can be read automatically, making it possible to withdraw(取) or deposit(存) money in scattered(分散的) locations, whether or not the local branch bank is open. For many of us the “cashless society” is not on the horizon(地平线) ----it’s already here. 



While computers offer these conveniences to costumers, they have many advantages for sellers too. Electronic cash registers(现金出纳机) can do much more than simple ring up sales. They can keep a wide range of records, including who sold what, when and to whom. This information allows businessmen to keep track of their list of goods by showing which items are being sold and how fast they are moving. Decisions to reorder or return goods to suppliers can then be made. At the same time these computers record which hours are busiest and which employees are the most efficient, allowing personnel and staffing assignments(人员分配) to be made accordingly. And they also identify(认出；签定) preferred customer for promotional campaigns(推销活动). Computers are relied on by manufacturers(制造商) for similar reasons. Computer analyzed(分析)marketing reports can help to decide which products to emphasize now, which to develop for the future and which to drop. Computers keep track of goods in stock, of raw materials on hand, and even of the production process itself. 



Numerous other commercial enterprises, from theaters to magazine publishers, from gas and electric utilities(电力事业) to milk processors, bring better and more efficient services to consumers through the use of computes. 

1. According to the passage, the credit card enables its owner to ______.

A. withdraw as much money from the bank as he wishes.

B. obtain more convenient services than other people do

C. enjoy greater trust from the storekeeper
D. cash money where he wishes to 

2. From the last sentence of the first paragraph we learn that ______.

A. in the future all the Americans will use credit cards

B. credit cards are mainly used in the United States today.

C. nowadays many Americans do not pay in cash

D. it is now more convenient to use credit cards than before.

3. The phrase “ring up sales” most probably means _____.

A. make an order of goods

B. record sales on a cash register

C. call the sales manager

D. keep track of the goods in stock 

4. What is this passage mainly about?

A. Approaches to the commercial use of computers.

B. Conveniences brought about by computers in business

C. Significance of automation in commercial enterprises. 

D. Advantage of credit cards in business.

5. It can be inferred that _____.

A. computers will bring disaster

B. computer industry will not develop faster

C. computers will bring about more convenience to people’s life.

D. None.
 (B)


It is commonly believed in the United States that school is where people go to get an education. Nevertheless, it has been said that today children interrupt their education to go to school. The difference between schooling and education implied by this remark is important.


Education is much more open-ended and all-inclusive than schooling. Education knows not limits. It can take place anywhere, whether in the shower or on the job, whether in a kitchen or on a tractor. It includes both the formal learning that takes place in schools and the whole universe of information learning. The agent (doer) of education can vary from respected grandparent to the people arguing about politics on the radio, from a child to a famous scientist. Whereas schooling has a certain predictability (可预料性), education quite often produces surprises. A chance conversation with a stranger may lead a person to discover how little is known of other religions (宗教). People receive education from infancy (婴幼儿) on. Education ,then, is a very broad, inclusive term. It is a lifelong process (过程), a process that starts long before the start of school, and one that should be a necessary part of one’s entire life.


Schooling, on the other hand, is a specific, formalized process, whose general pattern varies little from one setting to the next. Throughout a country, children arrive at school at about the same time, take the assigned (指定的)seats, are taught by an adult, use similar textbooks, do homework, take exams, and so on. The pieces of reality that are to learned, whether they are the alphabet or an understanding of the workings of government, have been limited by the subjects being taught, for example, high school students know that they are not likely to find out in their classes the truth about political problems in their society or what the newest filmmakers are experimenting with. There are clear and undoubtful conditions surrounding the formalized process of schooling. 

1. The passage is organized by ______.

A. listing and discussing several educational problems

B. telling a story about excellent teachers

C. giving examples of different schools

D. telling the difference between the meanings of two related words

2. The passage supports which of the following statements?

A. Going to school is only part of how people become educated.

B. Without formal education, people won’t be able to read and write.

C. Education systems need to be changed as soon as possible. 

D. Schooling is of no use because students do similar things every day.

3. The phrase “For example”, in paragraph 3, introduces a sentence _____

A. that shows the unknown workings of government

B. that brings about the bad results of schooling 

C. that helps to find out some similar textbooks.

D. that gives examples of the limits of classroom subjects

4. What does the writer mean by using the expression “children interrupt their education to go to school” in paragraph 1?

A. Education is totally ruined by schooling. 

B. Learning takes place everywhere.

C. All of life is an education

D. Schooling prevents people from discovering new things.

5. What is the main idea of this passage?

A. The more years students go to school the better their education is.

B. Education and schooling are quite different experiences.

C. The best schools teach a variety of subjects.

D. Students benefit from schools, which require long hours and homework.

参考答案：A: 1. B 2 C3 B 4 B 5 C

          B: 1. D 2 A 3 D 4 C 5 B

